
Artikel-Nr:
15V5080N Steel Revision 3: 27.10.2022

Ford Ranger, Mod. 2019
Seilwindenträger 
Cable carriers
corde porteuse du vent

15V
5080N

Assembly Instruction
Montageanleitung • Instructions de montage

*Compatible with Automatic Cruise Control /Forward Collision Mitigation 
Kompatibel mit  Abstandsregeltempomat /Auffahrvermeidungs-oder warnsystem 
compatible avec radar de régulation de distance/ freinage autonome d‘urgence 

7 Stunden

Betrieb der Seilwinde im Fahrbetrieb nicht erlaubt!
Operation of the winch in driving mode not allowed!
Fonctionnement du treuil pendant la conduite n‘est pas permis! 
Operar el cabrestante mientras se conduce no está permitido! 
Vinssiä ajon ei ole sallittua! 
Obsluha navijáku při jízdě není povoleno!
Betjene vinsjen under kjøring ikke er tillatt! 
Använda vinsch under körning är inte tillåtet! 



page / Seite  2
Revision 3: 27.10.2022

15V5081N

1x

10
13
17
19

1

M6: 
10 Nm
M8:
25 Nm
M10:
50 Nm
M12:
87 Nm

15V5082N

1x
2

15V5084

2x4

11E5039
4x9

15V5083N

1x
3

comeup + Rhino
15V5086N

1x5

15V5087
1x6

15V5181

1x7
15V5281

1x8

not included

11

15V5124

1x
10

TJM

005497
2x12

005495
7x13

Ø9 Zn Ø6,6 Zn

005493
25x14

005491
4x15

Ø11 Zn Ø13,5 Zn



16



page / Seite  4
Revision 3: 27.10.2022

M10x30; DIN 912 Zn 2x

M6x20;DIN 933 Zn 4x

M8x25;DIN 933 Zn 4x

M10x30;DIN 933 Zn 5x

M10x35;DIN 933 Zn 20x

M12x35;DIN 933 Zn 2x

M12x50; DIN 933 Zn 1x

M6; DIN 934 Zn 7x

M8; DIN 934 Zn 2x

M10; DIN 934 Zn 12x

M12; DIN 934 Zn 1x

Ø 8,4; DIN 125 Zn 4x

Ø 10,5; DIN 125 Zn 10x

     



page / Seite  5
Revision 3: 27.10.2022

Step 1

Step 2

Ø6

16

Step 3

Ø43

Step 4

for TJM
für TJM
pour TJM



page / Seite  6
Revision 3: 27.10.2022

Step 5 Step 6

Step 7 Step 8

Step 10

Step 11

Step 9

3x



page / Seite  7
Revision 3: 27.10.2022

Step 13

4x
1

Step 14

8x

Step 12

4

M10x35
144x

2x

M12x35
2x

15
2x

1

1

M10x35

M10
8x

1416x

M6: 
10 Nm
M10:
50 Nm
M12:
87 Nm

3x

M6
3x

13

3x

5

Step 15

ACC



page / Seite  8
Revision 3: 27.10.2022

Step 14Step 16

M10:
50 Nm

Step 17

6 2x
M8x25

12

2x

M8:
25 Nm

Step 18

5x
M10x30 14 5x

2



page / Seite  9
Revision 3: 27.10.2022

2x

2x10

Step 20 Step 25

Step 23

10

Step 21

Step 22

Ø8,4;DIN125
M8x25

Ø8,4;DIN125
M8

Step 14

M10:
50 Nm

Step 19

M10:
50 Nm

Ø10,5;DIN125
M10x35 4x

94x



page / Seite  10
Revision 3: 27.10.2022

winch
winde 
treuil

Step 24

Step 25 Step 26

Step 27



page / Seite  11

Step 30

Revision 3: 27.10.2022

Step 31

Step 32

   140

 45
 23 23

 25   195

Step 28

Step 29



page / Seite  12

M10:
50 Nm

2x

11

12

M12:
87 Nm

Step 33Step 32

10

Step 36

M10x30
Ø10,5;DIN125

M12x50

M12
18

1x
18

1x
1x

1x
M10:
50 Nm

2x

7

11

M12:
87 Nm

Step 34

Revision 3: 27.10.2022

Step 33

8

Step 35

M10x30
Ø10,5;DIN125

M12x50

M12
15

1x
15

1x
1x

1x



page / Seite  13
Revision 3: 27.10.2022

for Rhino 8
für Rhino 8
pour Rhino 8

Step 1-11
please refer
TJM winch

1

Step 12-17
please refer
TJM winch



page / Seite  14
Revision 3: 27.10.2022

M10:
50 Nm
M10:
50 Nm

Ø10,5;DIN125
M10x35 8x

94x

3

4x

4x
M6x20

M6
4x

13

2x

Step 24-28
please refer
TJM winch

Ø8,4;DIN125
M8x25

Ø8,4;DIN125
M8

2x



page / Seite  15
Revision 3: 27.10.2022

Step 30-35
please refer
TJM winch

 80

   75



page / Seite  16
Revision 3: 27.10.2022

for come up
für come up
pour come up

Step 1-17
please refer
TJM winch

4xM10



page / Seite  17
Revision 3: 27.10.2022

M10:
50 Nm
M10:
50 Nm

Ø10,5;DIN125
M10x35

4x
94x

3

4x

4x
M6x20

M6
4x

13

2x

Step 24-28
please refer
TJM winch

Ø8,4;DIN125
M8x25

Ø8,4;DIN125
M8

2x



page / Seite  18
Revision 3: 27.10.2022

Step 30-35
please refer
TJM winch

 80

   75


